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INTERMEDIATE EXAMINATION-2025 
bUVjehfM,V ijh{kk-2025 

( ANNUAL/okf’kZd )  

   fo"k; %– m|ferk ¼ ,sfPNd ½  
   Subject   :– ENTREPRENEURSHIP ( Elective ) 

I.Com. 

dqy ç”u : 70+20+6 = 96    

Total Questions  : 70+20+6 = 96         

(le; : 3 ?kaVs 15 feuV)              (iw.kkZad :70)  
[Time : 3 Hours 15 Minutes]            [Full Marks:70]      

 
ijh{kkfFkZ;ksa ds fy, funsZ'k% 

Instructions for the candidates: 

1. ijh{kkFkhZ 𝑂𝑀𝑅 mÙkj&i=d ij viuk ç'u iqfLrdk Øekad ¼10 vadksa dk½ vo'; fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the 
OMR Answer Sheet. 

2. ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far as practicable. 

3. nkfguh vksj gkf”k;s ij fn;s gq, vad iw.kkaZd fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks.  

4. ç'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjä le; fn;k x;k 
gSA 
15 minutes of extra time have been allotted for the candidates to read the 
questions carefully. 

5. ;g ç'u iqfLrdk nks [k.Mksa esa foHkkftr gS – [k.M&v vkSj [k.M&c A 
This Question booklet divided into two sections-SECTION-A and SECTION-B 

218 
fo"k; dksM% 
Subject Code: 
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6. [k.M&v esa 70 oLrqfu"B iz'u gS] ftuesa ls fdUgha 35 iz'uksa dk mÙkj nsuk vfuok;Z gSA 35 iz'uksaa ls 
vf/kd dk mÙkj nsus ij izFke 35 dk gh ewY;kadu gksxkA izR;sd iz'u ds fy, 1 vad fu/kkZfjr gSA 
budk mÙkj nsus ds fy, miyC/k djk;s x;s x, 𝑂𝑀𝑅 mÙkj&i=d esa fn, x, lgh fodYi dks 
uhys@dkys ckWy isu ls izxk<+ djsaA fdlh Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn 
dk 𝑂𝑀𝑅 mÙkj&i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 
In Section- A, there are 70 objective type questions, out of which any 35 questions 
are to be answered. If more than 35 questions are answered, then only first 35 
answers will be evaluated. Each question carries 1 mark. For answering these 
darken the circle with blue/ black ball pen against the correct option on OMR 
Answer sheet provided to you. Do not use Whitener /Liquid/Blade/Nail etc. on 
OMR Answer Sheet, otherwise the result will be invalid. 

 

7. [k.M& c esa 20 y?kqmÙkjh; iz'u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gSA ftuesa ls fdUgha 
10 iz'uksa ds mÙkj nsuk vfuok;Z gSA blds vfrfjDr bl [k.M esa 06 nh?kZ mÙkjh; iz'u 
fn, x, gSa] izR;sd ds fy, 05 vad fu/kkZfjr gSaA ftuesa ls fdUgha 03 iz'uksa ds mÙkj nsuk 
vfuok;Z gSA 
In SECTION- B, there are 20 Short Answer Type Questions. Each question 
carrying 2 marks, out of which any 10 questions are to be answered. Apart  from 
these, there are 06 Long Answer Type Questions, each carrying 5 marks, out of 
which any 3 questions are to be answered. 

 

8. fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 
Use of any electronic appliances is strictly prohibited. 
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[k.M & v / SECTION-A 
oLrqfu"B ç'u / Objective Type Questions 

 

ç'u la[;k 1 ls 70 rd ds ç'u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d lgh gSA 

fdUgha 35 iz'uksa dk mÙkj vius }kjk pqus x, lgh fodYi dks 𝑶𝑴𝑹 'khV ij fpfºur djsaA

            𝟑𝟓 × 𝟏 = 𝟑𝟓 

Question Nos. 1 to 70 have four options, out of which only one is correct. Answer 
any 35 questions. You have to mark your selected options on the OMR – Sheet.     

35 × 1 = 35 

1. fuEufyf[kr esa ls dkSu&lk volj dk ,d çdkj gS\ 

(A) i;kZoj.k esa fo|eku volj  (B) fufeZr volj  

(C) (A) vkSj (B) nksuksa (D) buesa ls dksbZ ugha 

Which of the following is a type of opportunity? 

(A) Existing opportunities in the    

environment  

(B)  Created opportunities 

(C)  Both (A) and (B) (D)  None of these 

2. fuEu esa ls dkSu i;kZoj.kh; lw{e tk¡p dks çHkkfor djus okyk vkfFkZd ?kVd gS\ 

(A)  vkfFkZd fodkl dk Lrj (B)  vkfFkZd uhfr;k¡ 

(C)  cktkj dh fLFkfr  (D)  buesa ls lHkh 

Which of the following is a economic factor affecting environmental micro 

scanning? 

(A)  Stage of economic development (B)  Economic policies 

(C)  Market situation  (D)  All of these 

3. fuEu esa ls dkSu ek¡x iwokZuqeku esa lfEefyr dkjd gS\ 

(A)  iwokZuqeku dh yEckbZ (B)  iwokZuqeku ds Lrj 

(C)  mRikn dk oxhZdj.k  (D)  mijksDr lHkh 
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Which of the following is a factor involved in demand forecasting? 

(A)  Length of forecasting (B)  Levels of forecasting 

(C)  Classification of product  (D)  All of the above 

4. fuEufyf[kr esa ls dkSu ek¡x iwokZuqeku dh fof/k ugha gS\ 

(A)  losZ{k.k fof/k (B)  lkaf[;dh; fof/k 

(C)  ekxZn”kZu funs”kd fof/k (D)  mRiknu fof/k 

  Which of the following is not a method of demand forecasting? 

(A)  Survey method (B)  Statistical method 

(C)  Leading indication method (D)  Production method 

5. cktkj ewY;kadu dks dkSu&lk rRo çHkkfor ugha djrk gS\ 

(A)  ek¡x (B)  lw{e okrkoj.k  

(C)  cktkj e/;LFk (D)  çfr;ksxh 

Which element does not affect market assessment? 

(A)  Demand (B)  Micro environment  

(C)  Market intermediaries (D)  Competitor 

6. miØe dk pquko fuHkZj djrk gS% 

(A)  ,dkdh O;kikj ij (B)  lkglh ds vf/kdkj ij 

(C)  lkglh dh Lo;a dh ;ksX;rk ij (D)  buesa ls dksbZ ugha 

Selection of an enterprise depends on: 

(A)  Sole Trading (B)  Right of Entrepreneur 

(C)  Self Ability of Entrepreneur (D)  None of these 

7. miØe dh LFkkiuk djrs le; m|eh dks fdu rRo dk /;ku j[kuk pkfg,% 

(A)  O;olk; dk p;u (B)  bdkbZ dk vkdkj 

(C)  foÙkh; lk/ku  (D)  mi;qZDr lHkh 

The factors to be kept in mind while establishing an enterprise are: 

(A)  Selection of business (B)  Size of the unit 
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(C)  Financial resources  (D)  All of the above 

8. çkjafHkd tk¡p ds fy, fdl igyw ;k fdu igyqvksa ij /;ku nsuk vko”;d gS\ 

(A)  ljdkjh çkFkfedrk ds vuq:i (B)  çoZrd ls laxfr 

(C)  fuos”k dh miyC/krk (D)  mijksä lHkh 

Which aspect or aspects are to kept in mind for Preliminary Screening? 

(A)  Consistency with 

Government priority 

(B)  Compatibility with 

promoter 

(C)  Availability of input (D)  All of the above 

9. lQy miØe dk vko';d “krZ gSa% 

(A)  lqifjHkkf"kr laLFkkxr y{; (B)  çHkkoiw.kZ fu;kstu 

(C)  (A) vkSj (B) nksuksa (D)  u rks (A) vkSj u (B) 

Requisites of successful enterprise are: 

(A)  Well defined organisational goals   (B)  Effective planning 

(C)  Both (A) and (B)    (D)  Neither (A) nor (B) 

10.  O;olk; fu;kstu ds çeq[k vo;o gSa% 

(A)  O;olk; dk o.kZu  (B)  vf/k”kklh lkjka'k 

(C)  (A) vkSj (B) nksuksa (D)  u rks (A)  vkSj u (B)

The main components of business planning are: 

(A)  Business description (B)  Executive summary 

(C)  Both (A) and (B) (D)  Neither (A) nor (B) 

11.  O;olk; fu;kstu dk çeq[k egRo gS

(A)  fn'kk&funsZ'ku esa (B)  fuos'kdrkZvksa dks vkdf"kZr djus esa 

(C)  mÙkksyu “kfDr çnku djus esa (D)  mi;qZDr lHkh 

The main importance of business planning is: 

(A)  In providing guidelines (B)  In attracting investors 

(C)  In providing leverage (D)  All of the above 
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12.  O;olk; fu;kstu esa 'kkfey fØ;k,¡ gSa% 

(A)  laxBu dk fu;kstu  (B)  Je&'kfä dh vko';drk dk 

fu;kstu djuk 

(C)  ifj;kstuk&dk;Z dk fu;kstu  (D)  mi;qZDr lHkh 

The activities included in business planning are: 

(A)  Planning the organisation (B)  Planning the man-power requirement 

(C)  Planning of project work (D)  All of the above 

13.  ifj;kstuk çcU/k lEcfU/kr ugha gksrk gS% 

(A)  çdk;kZRed çLrko ls (B)  dsUæh—r uhfr fu/kkZj.k ls 

(C)  fodsUæh—r dk;kZUo;u ls  (D)  fodsUæh—r uhfr fu/kkZj.k ls 

Project management is not concerned with: 

(A)  Functional approach (B)  Centralised policy formulation 

(C)  Decentralised 

implementation  

(D)  Decentralised policy formulation 

14.  foLrkjhdj.k ifj;kstuk enn djrh gS 

(A)  fo|eku lalk/kuksa ds vuqiwj.k esa (B) fu.kkZ;d fuos”kksa dh iwfrZ dk 

çxzg.k  

(C)  vfrfjDr voljksa dk ykHk 

mBkuk 

(D)  buesa ls dksbZ ugha 

       Expansion project helps in: 

(A)  Supplementing the existing 

resources 

(B)  Capturing supply of critical 

inputs  

(C)  Encashing additional 

opportunities 

(D)  None of these 

15.  vk/kqfudhdj.k ls lq/kkjrk gS% 

(A)  mRiknksa dks  (B)  mRiknu dks 
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(C)  çfØ;kvksa dks (D)  {kerk dks 

Modernisation improves: 

(A)   Products  (B)  Production 

(C)  Process (D)  Capacity 

16.  ifj;kstuk çfrosnu lkjka'k gS% 

(A)  rF;ksa dk  (B)  lwpukvksa dk 

(C)  fo'ys"k.k dk  (D)  ;s lHkh 

Project report is a summary of: 

(A)  Facts  (B)  Informations 

(C)  Analysis  (D)  All these 

17.   iquHkZqxrku vof/k lEcfU/kr gksrh gS% 

(A)  ykHk vtZu çfØ;k ds fy, vko';d vof/k 

(B)  fofu;ksx ykxr dh olwyh ds fy, vko';d vof/k 

(C)  fLFkj ykxr olwyh ds fy, vko';d vof/k 

(D)  mijksä esa ls dksbZ ugha 

Pay-back period is related with: 

(A)  Period required for profit earning process 

(B)  Period required for cost of investment recovery 

(C)  Period required for fixed cost recovery 

(D)  None of the above 

18.  'kq) orZeku ewY; fof/k lEcfU/kr gS% 

(A)  eqæk dk le; ewY; ls (B)  eqæk dk c<+s gq, ewY; ls 

(C)  lHkh Hkkoh orZeku ewY;ksa ls (D)  mi;qZDr esa ls dksbZ ugha 

Net Present Value (NPV) method relates with: 

(A)  Time value of money (B)  Inflated value of money 

(C)  All present value of money (D)  None of the above 
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19.  fuEu esa ls dkSu lalk/kuksa dk ,d çdkj ,oa lzksr gS\ 

(A)  HkkSfrd lalk/ku (B)  rduhdh lalk/ku 

(C)  ekuoh; lalk/ku (D)  mi;qZDr lHkh 

Which of the following is a kind of resources and their sources? 

(A)  Physical resources (B)  Technical resources 

(C)  Human resources (D)  All of the above 

20.  lk/kuksa ds xfrdj.k esa m|eh dh Hkwfedk esa fu.kZ; ysrs le; fuEufyf[kr esa ls 

fdl fcanq ij fopkj fd;k tkuk pkfg,\ 

(A)  lalk/kuksa dh vko';drk (B)  lalk/kuksa dh igpku 

(C)  :dkoVksa dk v/;;u (D)  mi;qZDr lHkh 

Which of the following point is to be considered while deciding about the 

role of entrepreneur in mobilising resources? 

(A)  Need of resources (B)  Identification of resources 

(C)  Study of obstacles (D)  All of the above 

21.  LFkk;h iw¡th dh vko';drk gS: 

(A)  nSfud O;;ksa dk Hkqxrku djus 

ds fy, 

(B)  Hkwfe [kjhnus ds fy, 

(C)  LV‚d [kjhnus ds fy, (D)  ysunkjksa dk Hkqxrku  

Fixed capital is required: 

(A)  For payment of routine expenses (B)  For purchase of land 

(C)  For purchase of stock (D)  For payment to creditors 

22.  cksul fu.kZ; ds fu/kkZjd gSa% 

(A)  ykHkksa dh ek=k (B)  dks’kksa dh rjyrk 

(C)  daiuh dh vk;q  (D)  mijksä lHkh 

The determinants of bonus decisions are: 

(A)  Amount of profits (B)  Liquidity of funds 
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(C)  Age of the company  (D)  All of the above 

23.  pkyw laifÙk esa 'kkfey gSa% 

(A)  miLdj (B)  fofu;ksx 

(C)  [;kfr (D)  nsunkj 

Current Asset include: 

(A)  Furniture (B)  Investment 

(C)  Goodwill (D)  Debtors 

24.  IykaV ,oa e'khu ij ºzkl gS% 

(A)  dks"k dk lzksr (B)  dks"k dk ç;ksx  

(C)  dks"k dk çokg ugha (D)  buesa ls dksbZ ugha 

Depreciation on plant and machinery is: 

(A)  Sources of fund (B)  Application of fund 

(C)  No flow of fund (D)  None of these 

25.  fuEufyf[kr esa dkSu xSj&pkyw laifÙk gS\ 

(A)  [;kfr (B)  çkI; fcy 

(C)  iwoZnÙk O;; (D)  nsunkj 

Which of the following is a non-current asset? 

(A)   Goodwill (B)  Bills receivable 

(C)  Prepaid Expenses (D)  Debtors 

26.  fuEu esa ls dkSu&lh le&foPNsn fo'ys"k.k dh mi;ksfxrk gS\ 

(A)  tksf[ke ewY;kadu (B)  ys[kkadu vk¡dM+ksa dks le>uk 

(C)  ykHk&lq/kkj (D)  buesa ls lHkh 

Which of the following is a utility of Break-even analysis? 

(A)  Risk valuation (B)  Understanding Accounting 

Data 

(C)  Profit improvement (D)  All of these 
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27.  fuEu esa ls dkSu&lk le&foPNsn fo'ys"k.k dk x.kuk dk rjhdk gS\ 

(A) xf.krh; fof/k (B) ys[kkfp=h; fof/k 

(C) (A) vkSj (B) nksuksa (D) u rks (A) vkSj u gh (B) 

Which of the following is a method of computation of Break-even analysis? 

(A)  Mathematical method (B)  Graphical method 

(C)  Both (A) and (B) (D)  Neither (A) nor (B) 

28.  m|eh iw¡th esa jgrk gSa% 

(A)  mPp tksf[ke  (B)  lkgfld tksf[ke 

(C)  dksbZ tksf[ke ugha (D)  buesa ls dksbZ ugha 

Venture capital contains: 

(A)  High risk  (B)  Venture Risk 

(C)  No Risk (D)  None of these 

29.   Hkkjrh; çkS|ksfxdh ,oa lwpuk fodkl dEiuh fyfeVsM dh LFkkiuk fdl o"kZ  dks 

gqbZ Fkh\ 

(A) 1975 (B) 1986 

(C) 1988 (D) buesa ls dksbZ ugha 

Technology development and information company of India Limited 

(TDICI) was established on which year? 

(A)  1975 (B)  1986 

(C)  1988 (D)  None of these 

30.  Hkkjr fuos'k dks"k }kjk LFkkfir fd;k x;k\

(A)  vkbZ-,Q-lh-vkbZ- (B)  fxz.Mys cSad 

(C)  LVsV cSad vkWQ bf.M;k (D)  dsujk cSad 

India Investment fund was established by: 

(A)  IFCI (B)  Grindlay Bank 

(C)  State Bank of India (D)  Canara Bank 
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31.  m|eh iw¡th miyC/k gS 

(A)  vR;Ur tksf[ke bdkb;ksa gsrq (B)  rduhdh bdkb;ksa gsrq 

(C)  laLFkkxr bdkb;ksa gsrq (D)  bu lHkh ds fy, 

Venture capital is available for: 

(A)  Very Risky units (B)  Technical units 

(C)  Organisation units (D)  All of these 

32.  Hkkjr ljdkj }kjk tkjh fn'kk&funsZ'kksa ds vuqlkj] lkgfld iw¡th dks’k ds fy, 

_.k &lerk vuqikr gS%& 

(A) 1.5 (B) 2.0 

(C) 0.5 (D) 2.5 

According to guidelines issued by India Government, Debt-equity ratio for 

venture capital fund is: 

(A)  1.5 (B)  2.0 

(C)  0.5 (D)  2.5 

33.  çcU/k dh lkekftd mÙkjnkf;Ro dh ç—fr esa ykxw gksrk gS% 

(A)  Øsrk dh lko/kkuh dk fu;e (B)  foØsrk dh lko/kkuh dk 

fu;e 

(C)  (A) vkSj (B) nksuksa (D)  buesa ls dksbZ ugha 

In the nature of social responsibility of management is: 

(A)  Buyer beware (B)  Seller beware 

(C)  Both (A) and (B) (D)  None of these 

34.  fdlh Hkh ns'k ds fodkl esa lcls vf/kd vko';drk gS% 

(A)  HkkSfrd fodkl dh (B)  vkfFkZd lalk/ku dh 

(C)  dq'ky çcU/k dh (D)  buesa ls dksbZ ugha 

The foremost need of development in a country is of: 

(A)  Physical resources (B)  Economic resources 
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(C)  Efficient management (D)  None of these 

35.  lEHkkoh xzkgd gksrs gSa% 

(A)  yksx ftUgsa lsok vFkok mRikn ds bPNqd gS 

(B)  tks yksx lsok vFkok mRikn [kjhnus ;ksX; gS 

(C)  tks lsok,¡ vFkok mRikn Ø; djus pkgrs gSa 

(D)  mi;qZDr lHkh  

Prospective customers are: 

(A)  People who need Products Services 

(B)  People who are capable of Purchasing Products or Services 

(C)  People who want to Purchase Products or Services 

(D)  All the above 

36.  O;fDrxr foØ; gS 

(A)  ekSf[kd çLrqfr (B)  fyf[kr çLrqfr  

(C)  –'; çLrqfr (D)  buesa ls dksbZ ugha 

Personal Selling is: 

(A)  Verbal presentation (B)  Written presentation  

(C)  Visual presentation (D)  None of these 

37.  vkids cktkj esa lfEefyr gSa% 

(A)  vkids {ks= ds lHkh O;fDr 

(B)  os O;fDr ftUgsa vkidh lsokvksa vFkok mRiknksa dh vko';drk gS 

(C)  os O;fDr tks budk Hkqxrku djus ;ksX; gSa 

(D)  mi;qZDr lHkh 

Included in your market are: 

(A)  All the people of your area 

(B)  People who need your products or services 

(C)  People who are capable of paying for such products and services 
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(D)  All of the above 

38.  foKkiu gS 

(A)  ,d O;fDrxr lEçs’k.k çfØ;k (B)  ,d xSj&oS;fDrd lEçs’k.k 

çfØ;k 

(C)  ,d fyf[kr lEçs’k.k çfØ;k (D)  mi;qZDr ls dksbZ ugha 

Advertisement is: 

(A)  A personal communication process 

(B)  A non-personal communication process 

(C)  A written communication process 

(D)  None of these 

39.  ykHkksa dk iqu% fuos'k ,d lzksr gS% 

(A)  e/;&dkfyd foÙk dk (B)  vYi&vof/k foÙk dk 

(C)  nh?kZ&dkfyd foÙk dk (D)  buesa ls dksbZ ugha 

Re-investment or ploughing back of profits is a source of: 

(A) Medium-term finance (B)  Short-term finance 

(C)  Long-term finance (D)  None of these 

40.  cktkj isUVªs”ku esa% 

(A)  ,d laifÙk ¼LdwVj½ nwljs ds fy, fofue; 

(B)  ,d iqjkuh laifÙk ¼LdwVj½ ,d u, ls cnyuk 

(C)  ,d laifÙk ¼LdwVj½ dS”k esa cspuk  

(D)  ,d laifÙk ¼LdwVj½ v‚uykbu [kjhn ç.kkyh ls cspuk  

Under market penetration: 

(A)  An asset (scooter) is an exchange for another 

(B)  An old asset (scooter) is exchanged for new one 

(C)  An asset (scooter) is sold for cash 

(D)  An asset (scooter) is sold online purchase system 
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41.  fuEu esa ls dkSu&lk volj cks/k dk rRo gS\ 

(A)  le> dh “kfDr (B)  ifjorZu esa utj 

(C)  uoçorZuh; xq.k (D)  buesa ls lHkh 

Which of the following is an element of sensing the opportunities? 

(A)  Ability to perceive (B)  Insight into the change 

(C)  Innovative quality (D)  All of the above 

42.  lkekftd <+k¡pk dh jpuk gksrh gS  

(A)  lekt ds fØ;kZRed foHkktu 

ls 

(B)  tkfr ds fØ;kZRed foHkktu 

ls 

(C)  leqnk; ds fØ;kZRed 

foHkktu ls 

(D)  mi;ZqDr esa ls dksbZ ugha 

Social structure is composed of  

(A) Functional division of 

society 

(B)  Functional division of caste 

(C)  Functional division of 

community 

(D)  None of the above 

43.  Kku vtZu çfØ;k esa 'kkfey gksrs gSa% 

(A)  lapkyu  (B)  euksHkko 

(C)  iqu% Hkqxrku (D)  lapkyu] euksHkko ,oa 

vuqfØ;k 

The learning process involves: 

(A)  Drive (B)  Cue 

(C) Repayment (D)  Drive, Cue and Response

44.  ckg~; okrkoj.k tks “kfDr;ksas ls fufeZr gS dk lkekU; çHkko gks+rk gS& 

(A)  miØe O;ogkj (B)  deZpkjh dk O;ogkj 

(C)  çorZd dk O;ogkj (D)  çcU/k dk O;ogkj 
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External environment which is composed of forces that have a general 

influence on: 

(A) Enterprise Behaviour (B)  Employee’s Behaviour 

(C)  Promoter’s Behaviour (D)  Management Behaviour 

45.  fuEu esa ls fdldk mRikn ;k lsok dk pquko djrs le; /;ku j[kuk t:jh ugha 

gS\

(A)  Ckktkj dk fu/kkZj.k (B)  O;kogkfjdrk 

(C)  çfr;ksfxrk (D)  mRikn fu;kstu 

Which of the following is not to be considered while selecting a product or 

services? 

(A)  Marketing Assessment (B)  Practicability 

(C)  Competition (D)  Product planning 

46. fuEu esa ls dkSu u;s m|e dh 'kq:vkr dh voLFkk ugha gS\ 

(A)  çkjfEHkd&iwoZ voLFkk (B)  çkjfEHkd voLFkk 

(C)  mRikn cktkj voLFkk (D)  ckn dh o`f) voLFkk 

Which of the following is not a stage of starting of a new venture? 

(A)  Pre-start up stage (B)  Startup stage 

(C)  Product market stage (D)  Later growth stage

47.  fuEu esa ls dkSu&lh O;olk; ds foLrkj ls tqM+h leL;k ugha gS\ 

(A)  tksf[ke çcU/k (B)  ykHk fu;kstu ,oa O;; 

fu;a=.k 

(C)  ewY; uhfr  (D)  ek¡x dh ço`fÙk 

Which of the following is not a problem of expansion of business? 

(A)  Risk management (B)  Profit planning and expense 

control 

(C) Price policy  (D)  Trend of demand 
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48.  fu;kstu gS% 

(A)  vko';d  (B)  vuko';d 

(C)  le; dh cckZnh (D)  /ku dh cckZnh 

Planning is: 

(A)  Necessary  (B)  Unnecessary 

(C)  Wastage of time (D)  Wastage of money 

49.  ifj;kstuk ds rS;kj djus ij O;; fd;k x;k /ku gS% 

(A)  fofu;ksx (B)  O;; 

(C)  viO;;  (D)  buesa ls dksbZ ugha 

Money spent on the preparation of project is: 

(A)  Investment (B)  Expenditure 

(C)  Wastage  (D)  None of these 

50.  nh?kZdkyhu _.k ij gksrk gS: 

(A)  fLFkj C;kt nj (B)  ifjorZu”khy C;kt nj 

(C)  'kwU; C;kt nj (D)  mi;qZDr esa ls dksbZ ugha 

Long –term loans bears: 

(A)  Fixed Rate of Interest (B)  Flexible Rate of Interest 

(C)  Zero Rate of Interest (D)  None of the above 

51. fLFkj ykxr esa 'kkfey jgrk gSa% 

(A) dPps eky dh ykxr (B) Je dh ykxr 

(C) “kfDr dh ykxr (D) dkj[kkuk dh ykxr 

Fixed cost includes: 

(A)  Cost of raw material (B)  Cost of labour 

(C)  Cost of power (D)  Cost of factory 

52. fuEufyf[kr esa dkSu xSj&pkyw nkf;Ro gS\ 

(A)  cU/kd _.k (B)  cSad vf/kfod"kZ 
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(C)  vnÙk osru (D)  iwoZnÙk O;; 

Which of the following is a non-current liability? 

(A)  Mortgage Loan (B)  Bank Overdraft 

(C)  Outstanding salaries (D)  Prepaid expenses 

53. vkn”kZ pkyw vuqikr gS% 

(A)  2: 1 (B)  1: 2 

(C)  3: 2 (D)  4: 1 

Ideal current ratio is: 

(A)   2: 1 (B)   1: 2 

(C)    3: 2 (D)    4: 1 

54.  pkyw vuqikr gksrk gS% 

(A)  vkfFkZd fpV~Bk vuqikr (B)  ykHk&gkfu vuqikr 

(C)  fefJr vuqikr (D)  buesa ls dksbZ ugha 

Current ratio is: 

(A)  Balance sheet Ratio (B)  Profit-loss ratio 

(C)  Composite ratio (D)  None of these 

55. iw¡th&xgu çkS|ksfxdh dh odkyr dh tkrh gS D;ksafd%  

(A)  “kh?kz vkfFkZd fodkl  (B)  lkekftd çHkko 

(C)  jkstxkj voljksa esa o`f) (D)  mi;qZDr lHkh 

Capital-investment technique is favoured due to : 

(A)  Rapid economic growth  (B)  Social influence 

(C)  Increment in employment 

opportunities 

(D)  All of the above 

56. Je&xgu çkS|ksfxdh mi;qDr gS D;ksafd bldk lEcU/k gS  

(A)  çÑfr esa vfopy  (B)  ç—fr esa xfr'khy 

(C)  ç—fr esa :dh gqbZ (D)  buesa ls lHkh 
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Labour-intensive technique is appropriate because it relates with  

(A)  Unstable in nature  (B)  Movable in nature 

(C)  Constant in nature (D)  All of these 

57.  çcU/k dh ç—fr gS: 

(A)  tUetkr çfrHkk ds :i esa (B)  vftZr çfrHkk ds :i esa 

(C)  tUetkr çfrHkk rFkk vftZr 

çfrHkk nksuksa ds :i esa 

(D)  mi;qZDr ls dksbZ Hkh ugha 

The nature of management is: 

(A)  As an inborn ability (B)  As acquired ability 

(C)  As inborn ability and as an 

acquired ability both 

(D)  None of the above 

58.  orZeku mRiknu O;oLFkk okLro esa gS% 

(A)  çR;{k mRiknu (B)  vçR;{k mRiknu 

(C)  çkFkfed  (D)  f}rh;d 

Present production system, infact is: 

(A)  Direct production (B)  Indirect production 

(C)  Primary  (D)  Secondary 

59.  fdl fof/k dk ç;ksx çk;% xzkQ] ;krk;kr vFkok flEIysDl jhfr;ksa esa fd;k tkrk 

gS\ 

(A)  yhfu;j ewY;kadu  (B)  ØkfUrd iFk fo'ys"k.k 

(C)  mRikn fujh{k.k (D)  dk;ZØe :ijs[kk 

Which method is used in graph, transportation or simplex method? 

(A)  Linear programming  (B)  Critical path analysis 

(C)  Product Inspection (D)  Scheduling 

60.  foKkiu dk mís'; gS: 

(A)  laHkkfor Øsrkvksa dks vkdf"kZr djuk  
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(B)  xzkgdksa dks lwpuk nsuk vkSj ekxZn'kZu djuk 

(C)  mRiknksa dk çpkj djuk 

(D)  buesa ls lHkh 

The purpose of advertisement is: 

(A)  To attract potential buyers 

(B)  To inform and guide customers 

(C)  To make publicity of product 

(D)  All of the above 

61.  SFC Act Hkkjr esa fdl o"kZ esa ikfjr fd;k x;k \ 

(A) 1948 (B) 1954 

(C) 1950 (D) 1951 

SFC Act in India was passed in which year? 

(A)  1948 (B)  1954 

(C)  1950 (D)  1951 

62.  IFCI fdl o"kZ esa LFkkfir dh xbZ\ 

(A) 1939 (B) 1948 

(C) 1950 (D) 1956 

IFCI was established in which year? 

(A)  1939 (B)  1948 

(C)  1950 (D)  1956 

63.  ykHkka'k gS: 

(A)  'kq) ykHk (B)  ykHk dk fofu;kstu 

(C)  lap; dks’k  (D)  vforfjr ykHk dk va”k 

Dividend is: 

(A)  Net profit (B)  Appropriation of profit 

(C)  Reserve fund  (D)  Part of undistributed Profit 
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64.  ckW.M _.k] lk/ku gS%  

(A)  nh?kZ-vof/k _.k dk (B)  e/;-vof/k _.k dk 

(C)  vYi-vof/k _.k dk (D)  buesa ls dqN ugha 

Bond loan is a source of  

(A)  Long-term loan (B)  Medium-term loan 

(C)  Short-term loan (D)  None of these 

65. py ykxr dk Js’Bre mnkgj.k gS% 

(A)  iw¡th ij C;kt  (B)  lkexzh ykxr 

(C)  lEifr dj (D)  fdjk;k 

The best example of variable cost is: 

(A)  Interest on capital  (B)  Material cost 

(C)  Wealth tax (D)  Rent 

66.  buesa ls dkSu&lk dkj[kkuk vifjO; ugha gS% 

(A)  dkj[kkuk chek (B)  Iyk.V ij ewY;gzkl 

(C)  Mªkbax dk;kZy; osru  (D)  osru 

Which of the following is not factory overhead: 

(A)  Factory Insurance (B)  Depreciation on plant 

(C)  Drawing office salary (D)  Salary 

67.  fuEu esa ls LFkk;h ykxr dk mnkgj.k gS% 

(A)  çR;{k lkexzh ykxr (B)  O;; 

(C)  dk;kZy; çcU/kd dk osru (D)  çR;{k Je ykxr 

Which of the following is an example of fixed cost: 

(A)  Direct Material Cost (B)  Chargeable Expenses 

(C)  Salary of office Manager (D)  Direct Labour Cost 

68.  lkekU;r% fofo/khdj.k oxhZÑr fd;k tkrk gS% 

(A)  nks rjhdksa esa (B)  rhu rjhdksa esa 
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(C)  pkj rjhdksa esa (D)  ik¡p rjhdksa esa 

Generally diversification is classified in: 

(A)   Two ways (B)  Three ways 

(C)  Four ways (D)  Five ways 

69.  m|eh ds nkf;Ro gSa% 

(A)  lekt ds çfr (B)  ljdkj dh çfr 

(C)  i;kZoj.k dh çfr  (D)  buesa ls lHkh 

Responsibility of entrepreneur’s are: 

(A)  Towards society (B)  Towards Government 

(C)  Towards Environment  (D)  All of these 

70.  mRikn fujh{k.k ds egRoiw.kZ igyw gSa% 

(A) mRiknu fujh{k.k (B) çfØ;k fujh{k.k 

(C) fujh{k.k fo'ys"k.k (D) buesa ls lHkh 

The important aspects of product inspection are: 

(A)  Production inspection (B)  Process inspection 

(C)  Inspection analysis (D)  All of these 

 

[k.M&c / SECTION– B 

y?kq mÙkjh; ç'u / Short Answer Type Questions  

ç'u la[;k 1 ls 20 rd y?kq mÙkjh; gSA buesa ls fdUgha 10 ç'uksa ds mÙkj nsaA  

çR;sd ds fy, 2 vad fu/kkZfjr gSA                  𝟏𝟎 × 𝟐 = 𝟐𝟎 

Question No. 1 to 20 are Short Answer Type. Answer any 10 questions. Each 

question carries 2 marks.                    10 × 2 = 20 

1. volj ykxr D;k gS\        2 

What is opportunity cost? 
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2. lkekftd ?kVd D;k gS\        2 

What is social factor? 

3. fdUgha nks forj.k e/;LFkksa ds uke crk;saA      2 

Name any two marketing intermediaries. 

4. O;ogk;Zrk v/;;u D;k gS\        2 

What is feasibility Study? 

5. O;olk; lao/kuZ D;k gS\        2 

What is business Promotion? 

6. O;kolkf;d fu;kstu D;k gS\       2 

What is business planning? 

7. Ikfj;kstuk D;k gS\         2 

What is project? 

8. ifj;kstuk ewY;kadu ds D;k m|s”; gS\      2 

What are the Objectives of Project appraisal? 

9. Lkalk/ku dk D;k vFkZ gS\        2 

What is meant by resource? 

10.  dk;Z”khy iw¡th ds fofHkUu izdkj D;k gaS\      2 

What are the various kinds of working capital? 

11.  dks’k izokg fooj.k dh D;k lhek,¡ gS\      2 

What are the limitations of Fund-Flow statement? 

12.  ykHknk;drk vuqikr D;k n”kkZrk gS\      2 

What does profitability ratio show? 

13.  le&foPNsn fcUnq pkVZ D;k gS\       2 

What is BEP Chart? 

14.  m|eh iw¡th ls vki D;k le>rs gS\      2 

What do you understand by venture capital? 
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15.  Je xgu izkS/kksfxdh D;k gS\       2 

What is labour-intensive technique? 

16.  Ikz”kklu ls D;k vk”k; gS\        2 

What is meant by administration? 

17.  Xkq.kork fu;a=.k fof/k;ksa dh ppkZ dhft,A      2 

Discuss the methods of quality control. 

18.  foi.ku ,oa foØ; esa D;k varj gS\      2 

What is the difference between marketing and Selling? 

19.  _.ki= D;k gS\         2 

What is debenture? 

20.  Ekq[; ykxr D;k gS\         2 

What is Prime cost? 

 

 

 

 

 

nh?kZ mÙkjh; ç'u / Long Answer Type Questions 

ç'u la[;k 21 ls 26 rd nh?kZ mÙkjh; gSA buesa ls fdUgha 3 ç'uksa ds mÙkj nsaA  

çR;sd ds fy, 5 vad fu/kkZfjr gSA         𝟑 × 𝟓 = 𝟏𝟓 

Question Nos. 21 to 26 are Long Answer Type. Answer any 3 questions. 

Each question carries 5 marks.                3 × 5 = 15 

21. cktkj eqY;kadu ls vki D;k le>rs gS\ cktkj eqY;kadu ij izHkko Mkyus okys 

?kVd dkSu-dkSu ls gS\            5 
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What do you mean by market assessment? What are the factors affecting 

market assessment? 

22.  miØe LFkkiuk dk fØ;kUo;u vki dSls djsaxsaA             5 

How would you execute the setting up of an enterprises? 

23.  fu;kstu dh izÑfr dk o.kZu djsaA           5 

Describe the nature of planning. 

24. lalk/kuksa dks izHkkfor djus okys fofHkUu rRoksa dk o.kZu djsaA       5 

Briefly describe the different factors affecting the resources. 

25. mRiknu :ijs[kk D;k gS\ blds pj.kksa dks le>k,A        5 

What is production Design? Discuss its phases. 

26. foi.ku feJ.k dk vFkZ crkb,A blesa dkSu&dkSu ls rRo lfEefyr gS\     5 

 Explain the meaning of marketing mix. What elements are included in it? 


